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TM74E 3A31H

:HORIBA PA—1000
M EE 100cm
U Sv.”h

=3 F1m g2 w1 (LA 34 (T
=3 100cm 100cm 100cm
% 13:12 13:58 13:24
& 0.089 0.057 0.083
L3 0.006 -0.005 0.001
=) F4h = (55) 54 = (R 6= (RAD
=] 100cm 100cm 100cm
% 13:30 13:35 13:40
& 0.072 0.073 0.062
3R 0.000 0.002 0.005
F7H R (G5H) oM R (T=X2—F}) Foh m (JRHLIZ)
100cm 100cm 100cm
13:19 13:00 13:07
0.086 0.068 0.078
0.004 -0.018 0.013
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#h I B E2oHh i (JLED 34 (T
B OE B 100cm 100cm 100cm

A F B ol 13:12 13:58 13:24
A E OE 0.083 0.062 0.082

BT @ kb 8 0.005 -0.007 0.004

ih =) F4ih | (554) 5 = (Rl 6= (RAD
B OE B 100cm 100cm 100cm

A F OBl 13:30 13:35 13:40

A E OE 0.072 0.071 0.057

Bl @ H -0.002 -0.006 -0.001

#h I F7H R (G5H) Fohm (T=Xa—k) Foh m (JRHLIZ)
B OE B 100cm 100cm 100cm

A F OBl 13:19 13:00 13:07

A E OE 0.082 0.086 0.065

Bl @ H -0.003 0.006 -0.008
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=3 F1m g2 w1 (LA 34 (T
=3 100cm 100cm 100cm
% 13:12 13:58 13:24
& 0.078 0.069 0.078
L3 -0.005 0.011 0.001
=) F4h = (55) 54 = (R 6= (RAD
=] 100cm 100cm 100cm
% 13:30 13:35 13:40
& 0.074 0.077 0.058
3R -0.001 0.004 -0.003
F7H R (G5H) oM R (T=X2—F}) Foh m (JRHLIZ)
100cm 100cm 100cm
13:19 13:00 13:07
0.085 0.080 0.073
0.006 -0.001 0.002
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#h I B E2oHh i (JLED 34 (T
B OE B 100cm 100cm 100cm

A F B ol 13:12 13:58 13:24
A E OE 0.083 0.058 0.077

BT @ kb 8 0.009 0.000 -0.001

ih =) F4ih | (554) 5 = (Rl 6= (RAD
B OE B 100cm 100cm 100cm

A F OBl 13:29 13:35 13:40

A E OE 0.075 0.073 0.061

BT @ kb & 0.002 0.005 0.001

#h I F7H R (G5H) Fohm (T=Xa—k) Foh m (JRHLIZ)
B OE B 100cm 100cm 100cm

A F OBl 13:19 13:00 13:07

A E OE 0.079 0.081 0.071

Bl @ H -0.005 -0.002 -0.001
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=3 F1m g2 w1 (LA 34 (T
=3 100cm 100cm 100cm
% 13:12 13:58 13:24
& 0.074 0.058 0.078
L3 -0.001 -0.005 0.006
=) F4h = (55) 54 = (R 6= (RAD
=] 100cm 100cm 100cm
% 13:30 13:35 13:40
& 0.073 0.068 0.060
3R -0.001 -0.002 0.000
F7H R (G5H) oM R (T=X2—F}) Foh m (JRHLIZ)
100cm 100cm 100cm
13:19 13:00 13:07
0.084 0.083 0.072
0.002 0.004 -0.003
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